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Yz, + Ozy < Yo
Y, 0xy +0,0zy <Yo,0
o/0xy+Y,/0xy >Y,0
zy+ Yoy > Y
\O0zy+Y,0xy >Y,0
Y/ 0z + 0/0xy <Yo,0
Yz, +zy < Yo
Y, 0xy+ V,/0xy < Yo,0

Ty,Ty > ©

V7, ¥

Maximize Z\\ =\,/0zy 4 o/ 0xy

(¥)

Maximize Z¢ = Y, 0z + V, Ozy

s.t. \,0xy + ¥, 0xy

Yz, + Ozy <

Y, 0xy+O,0xy

o/0zy + Y/ Oy

xy + Yoy >

\, 0z + Y, Qxy

Y/ 0z + o/ 0xy

Yoy +zy <

Y, 0z + \,/0zy <

Ty, Ty

\
xy =AY, xy = o, Z¢

s.t.

\
zy =AY, zy =, Zy

:Yo/a

\,0zy+¥,02y < V4,0
Yz, + Ozy < Yo

Y, 0xy+0,0xy <Yo,0

o/0xy+Y,/0xy >Y,0
Ty + Yoy > Y

\, Oz +Y,0xy >Y,0

Y0z +0/0zy <Yo,0
Yz, +ozy < Yo

Y, 0xy+ V/0xy < Yo,0

Ty,Ty > ©

\Y, Y

V)

(Y)






